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Question Number : 1 Question Id : 6801915623 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

'King' is the breed of which species?

1. Duck

2. Chicken

3. Guinea fowl
4. Pigeon

Options :

68019122001. 1
68019122002. 2
68019122003. 3

68019122004. 4

Question Number : 1 Question Id : 6801915623 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68019122001. 1
68019122002. 2
68019122003. 3

68019122004. 4

Question Number : 2 Question Id : 6801915624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which protein of egg binds biotin molecule?

1. Conalbumin
2. Avidin

3. Flavoprotein
4. Ovomucoid

Options :

68019122005. 1
68019122006. 2
68019122007. 3

68019122008. 4

Question Number : 2 Question Id : 6801915624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019122005. 1
68019122006. 2
68019122007 3
68019122008. 4

Question Number : 3 Question Id : 6801915625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What 1s per capita availability of egg per annum per person in India ?
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Options :
68019122009. 1
68019122010. 2
68019122011. 3

68019122012. 4

Question Number : 3 Question Id : 6801915625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

680191220009. 1

68019122010. 2

68019122011. 3

68019122012. 4

Question Number : 4 Question Id : 6801915626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Crude fiber content of roughge 1s

1. More than 18%
2. Less than 18%
3. More than 14%
4, Less than 14%

Options:

68019122013. 1
68019122014. 2
68019122015.3

68019122016. 4

Question Number : 4 Question Id : 6801915626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

o b2 —

68019122013. 1
68019122014. 2
68019122015. 3

68019122016. 4

Question Number : 5 Question Id : 6801915627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In general. what should be the bleeding time allowed after slaughter of chicken ?

1. 1.5 to 2.0 minute
2. 0.5 to 1.0 minute
3. 3.0 to 4.0 minute
4. 8.0 to 9.0 minute

Options:

68019122017. 1
68019122018. 2
68019122019. 3

68019122020. 4

Question Number : 5 Question Id : 6801915627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

o b2 —

68019122017.1
68019122018. 2
68019122019. 3

68019122020. 4

Question Number : 6 Question Id : 6801915628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What should be the scalding water tank temperature & time at Broiler & Young
birds slaughter house?

. 55°C for 1.5 minute
. 60°C for 2 minute
. 72°C for 1.5 minute
4. 65°C for 2 minute

b =

L]

Options :

68019122021. 1
68019122022. 2
68019122023.3

68019122024. 4

Question Number : 6 Question Id : 6801915628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

fad b2 =

68019122021. 1
68019122022. 2
68019122023. 3
68019122024. 4

Question Number : 7 Question Id : 6801915629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What is the % of chicken blood level as poultry dressing plant waste on live
weight basis?

35%
. 1.5 %
3. T5%

4.9.5%
Options:

b =

68019122025. 1
68019122026. 2
68019122027. 3

68019122028. 4

Question Number : 7 Question Id : 6801915629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

-2 =

68019122025. 1
68019122026. 2
68019122027. 3
68019122028. 4

Question Number : 8 Question Id : 6801915630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which protein of egg binds metals, especially iron ?

1. Conalbumin
2. Avidin

3. Flavoprotein
4. Ovalbumin

Options :

68019122029. 1
68019122030. 2
68019122031. 3
68019122032. 4

Question Number : 8 Question Id : 6801915630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. PIeg A

2. 3fafs

3. TR

4, JTaTegHH
Options :
68019122029, 1
68019122030. 2
68019122031. 3
68019122032. 4

Question Number : 9 Question Id : 6801915631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the poultry population of India as per the 2019 census?

. 851.81 mllion
. 751.81 muillion
3. 951.81 mullion
4. 651.81 mullion

Options :

I =

68019122033. 1
68019122034. 2
68019122035. 3
68019122036. 4

Question Number : 9 Question Id : 6801915631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. 851.81 fafermH
2. 751.81 i
3.951.81 faferaT
4. 651.81 foferaT

Options :

68019122033. 1
68019122034. 2
68019122035. 3

68019122036. 4

Question Number : 10 Question Id : 6801915632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s causative agent of Inclusion Body Hepatitis?

1. Reo virus
2. Herpes virus
3. Pox virus
4, Adeno virus

Options:

68019122037. 1
68019122038. 2
68019122039. 3

68019122040. 4

Question Number : 10 Question Id : 6801915632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019122037. 1
68019122038. 2
68019122039. 3
68019122040. 4

Question Number : 11 Question Id : 6801915633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Helmet body part 1s found in which species of poultry ?

. Turkey
. Goose
. Guinea fowl
4. Pigeon

|

L]

Options :

68019122041. 1
68019122042. 2
68019122043. 3

68019122044. 4

Question Number : 11 Question Id : 6801915633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. 84

3. FFT

4. PER
Options :
68019122041. 1
68019122042. 2
68019122043. 3
68019122044. 4

Question Number : 12 Question Id : 6801915634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Beard is found in which species of poultry ?

. Guinea fowl
. Turkey

. Goose

4. Quail

|

L]

Options:

68019122045. 1
68019122046. 2
68019122047.3

68019122048. 4

Question Number : 12 Question Id : 6801915634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019122045, 1
68019122046. 2
68019122047. 3

68019122048. 4

Question Number : 13 Question Id : 6801915635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Foam gland is found in which species of poultry ?

. Turkey

. Goose

. Guinea fowl
4. Quail

| I

L]

Options:

68019122049. 1
68019122050. 2
68019122051. 3
68019122052. 4

Question Number : 13 Question Id : 6801915635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019122049. 1
68019122050. 2
68019122051. 3

68019122052. 4

Question Number : 14 Question Id : 6801915636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the age of puberty for buffaloes ?

. 12-18 months
. 18-24 months
1
i

I =

Taa

. 24-30 months
4. 30-36 months

Options:

68019122053. 1
68019122054. 2
68019122055. 3

68019122056. 4

Question Number : 14 Question Id : 6801915636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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. 12-18 HoH
. 18-24 HgH
.24-30 HoH
4.30-36 HoH

Options :

L N B

68019122053. 1
68019122054. 2
68019122055. 3

68019122056. 4

Question Number : 15 Question Id : 6801915637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

World Egg Day 1s celebrated on

. 14 October
. 10 October

.27 Friday of October
4. 13 October

Options :

g Jd =

68019122057. 1
68019122058. 2
68019122059. 3

68019122060. 4

Question Number : 15 Question Id : 6801915637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019122057. 1
68019122058. 2
68019122059. 3
68019122060. 4

Question Number : 16 Question Id : 6801915638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Krishi Vigyan Kendra (KVK) program of ICAR was started in the year.

. 1965
. 1972
. 1974
4. 1979

Options :

b =

L]

68019122061. 1
68019122062. 2
68019122063. 3

68019122064. 4

Question Number : 16 Question Id : 6801915638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. 1965
2. 1972
3.1974
4. 1979

Options:

68019122061. 1
68019122062. 2
68019122063. 3

68019122064. 4

Question Number : 17 Question Id : 6801915639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What should be the maximum moisture % in poultry feed as per BIS 2007 ?

.09 %
11 %
.13 %
i

Options :

I =

S )

68019122065. 1
68019122066. 2
68019122067. 3

68019122068. 4

Question Number : 17 Question Id : 6801915639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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. 09 Tfderd
11 9fagrd
13 wfdwrd
4. 21 Uld9rd

Options :

fad B2 =

68019122065. 1
68019122066. 2
68019122067. 3

68019122068. 4

Question Number : 18 Question Id : 6801915640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What should be the minimum crude protein % in pre-starter broiler ration as per
BIS 2007?

. 19 %
22 ¥n
23 %

4. 24 %
Options :

= —

L

68019122069. 1
68019122070. 2
68019122071. 3

68019122072. 4

Question Number : 18 Question Id : 6801915640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. 19 Hid9rd
.22 Uid9rd
.23 Uid9id
4. 24 Ufd9rd

Options :

o b =

68019122069. 1
68019122070. 2
68019122071. 3

68019122072. 4

Question Number : 19 Question Id : 6801915641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the maximum acceptable Aflatoxin B1 level in Broiler and Layer ration as
per BIS 2007 ?

.20 ppb

. 25 ppb
.30 ppb
4. 35 ppb

=

L

Options :

68019122073. 1
68019122074. 2
68019122075. 3

68019122076. 4

Question Number : 19 Question Id : 6801915641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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.20 Yidisl
.25 Uidie]
.30 Uidisl
4. 35 Uidiat

Options :

o b2 —

68019122073. 1
68019122074. 2
68019122075. 3

68019122076. 4

Question Number : 20 Question Id : 6801915642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What should be the minimum level of Lysine % in starter ration of broiler as per
BIS 2007?

. 1.2%%
4.3 %0
.1.0%
4. 0.7 %

Options :

b =

L]

68019122077. 1
68019122078. 2
68019122079. 3

68019122080. 4

Question Number : 20 Question Id : 6801915642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:
68019122077. 1
68019122078. 2
68019122079. 3
68019122080. 4

Question Number : 21 Question Id : 6801915643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A good quality silage has pH between.

1.45-48
2.35-42
.4.8-5.2
4.52-54

Options :

L]

68019122081. 1
68019122082. 2
68019122083. 3
68019122084. 4

Question Number : 21 Question Id : 6801915643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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.4.5-48
. 3.5-42
4.58-52
4.52-54

Options:

| R

L]

68019122081. 1
68019122082. 2
68019122083. 3
68019122084. 4

Question Number : 22 Question Id : 6801915644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s First Limiting Amino Aecid for Meat and Bone ?

1. Methionine
2. Isoleucine
. Tryptophan
4. Threonine

L]

Options :

68019122085. 1
68019122086. 2
68019122087. 3
68019122088. 4

Question Number : 22 Question Id : 6801915644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019122085. 1
68019122086. 2
68019122087. 3

68019122088. 4

Question Number : 23 Question Id : 6801915645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s energy content level of Maize?

. 3400 keal
. 2900 keal
. 3600 keal
4, 1800 keal

Options:

I =

Taa

68019122089. 1
68019122090. 2
68019122091. 3

68019122092. 4

Question Number : 23 Question Id : 6801915645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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3400 f&al ARt
2000 f&al ARl
3600 fal ARt
4. 1800 fordll Hard

Options :

o b2 —

68019122089. 1
68019122090. 2
68019122091. 3

68019122092. 4

Question Number : 24 Question Id : 6801915646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which part of the Digestive system. digestion of carbohydrate starts first?

. Mouth

. Crop

3. Proventriculus
4, Gizzard

Options:

I =

68019122093. 1
68019122094. 2
68019122095. 3

68019122096. 4

Question Number : 24 Question Id : 6801915646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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I
3. Uafedh oy

4. firses

Options :

a =

68019122093. 1
68019122094. 2
68019122095. 3

68019122096. 4

Question Number : 25 Question Id : 6801915647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the orgin state of Ankaleshwar breed of chicken?

. Uttar Pradesh
. Gujarat

3. Maharashtra
4. Haryana

| R

Options :

68019122097. 1
68019122098. 2
68019122099. 3
68019122100. 4

Question Number : 25 Question Id : 6801915647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. 3R W=l
2. ORI

3. HERIY
4. BRATUN

Options :

68019122097. 1
68019122098. 2
68019122099. 3

68019122100. 4

Question Number : 26 Question Id : 6801915648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which 1s the origin country of Muscovy duck ?

1. England

2. Canada

3. South America
4. France

Options :

68019122101. 1
68019122102. 2
68019122103. 3
68019122104. 4

Question Number : 26 Question Id : 6801915648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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2. TSI
3. Gl&oT 3T
4. 1Y
Options :
68019122101. 1
68019122102. 2
68019122103. 3

68019122104. 4

Question Number : 27 Question Id : 6801915649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the Comb type of Cornish breed of chicken ?

1. Single

2. Rose

3. Pea

4, WalnutSingle

Options :

68019122105. 1
68019122106. 2
68019122107.3

68019122108. 4

Question Number : 27 Question Id : 6801915649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



DI % & i1 B Bl [ YHR B! 8lall 62
1. Uod
2. el
3. 1eR
4, 3EIE
Options :
68019122105. 1
68019122106. 2
68019122107. 3

68019122108. 4

Question Number : 28 Question Id : 6801915650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the egg colour of Araucona breed of chicken ?

1. White
2. Brown
3. Blue
4, Black

Options:

680191221009. 1
68019122110. 2
68019122111.3

68019122112. 4

Question Number : 28 Question Id : 6801915650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



SRS 7% & il & S B T 182

1. ghg

2.3
3. Ata

4, PIcdl
Options :
68019122109. 1
68019122110. 2
68019122111. 3

68019122112. 4

Question Number : 29 Question Id : 6801915651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which breed of chicken have black colour skin?

1. Aseel

2. Kadaknath

3. Langshan

4. Cochin
Options:
68019122113.1
68019122114. 2
68019122115. 3

68019122116. 4

Question Number : 29 Question Id : 6801915651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



BT T B g arel LT DI A7 BIA-HT 57

Options :

68019122113. 1
68019122114. 2
68019122115. 3

68019122116. 4

Question Number : 30 Question Id : 6801915652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s water content level in Egg Yolk of chicken?

1.33 %
2

.75 %

3. 88%

4. 48 %
Options:
68019122117. 1
68019122118. 2
68019122119.3

68019122120. 4

Question Number : 30 Question Id : 6801915652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



it & oiS DI Wal & U DI HET DT KR (a1 gldl 7

L.

2. 75 Hid<rd

3.

4. 48 IR
Options :
68019122117. 1
68019122118. 2
68019122119. 3

68019122120. 4

Question Number : 31 Question Id : 6801915653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bovine spongi form encephalopathy (BSE) disease 1s also known as

. Herpes

. Mad Cow Disease
. IBR

4, Scabies

Options:

| I

L]

68019122121.1
68019122122. 2
68019122123. 3

68019122124. 4

Question Number : 31 Question Id : 6801915653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



diarg WiwoihH taharnd @ Ts) T S 59 98 I i o1 9 6 -
1. 83U

2. HE &% I
3. 3756 3R
4. Thfa9

Options :

68019122121.1
68019122122. 2
68019122123. 3

68019122124. 4

Question Number : 32 Question Id : 6801915654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hormone 1s responsible for Oviposition of egg ?

1. Lutinizing Hormone (LH)

2. Follicle Stimulating Hormone (FSH)
3. Oxytocin

4. Oestrogen

Options :

68019122125. 1
68019122126. 2
68019122127. 3

68019122128. 4

Question Number : 32 Question Id : 6801915654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



a1 sisfguur & forw H1H-91 g/EH St 82

1. T[T g (LH)
2. WhIfeidd ReqafeT g (FSH)
3, Il

4. TS
Options :
68019122125. 1
68019122126. 2
68019122127. 3

68019122128. 4

Question Number : 33 Question Id : 6801915655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Best time for artificial in semination in cattle is -

. 12-18 hrs before on set of estrus.
. 18-24 hrs before on set of estrus.
. 18-24 hrs after the end of estrus.
4. 12-18 hrs after on set of estrus.

b =

L]

Options :

68019122129. 1
68019122130. 2
68019122131.3

68019122132. 4

Question Number : 33 Question Id : 6801915655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



6 H ST TEiUFE / dRiEEd T 9a9y 999 -

1. H&=eh & YR Y 12-18 °UUS Ud
2. G&=h & YR Y 18-24 90 gd
3. 0gdd & 3 4 18-24 HUC dIG
4, UEddh & YR I 12-18 YIS 15

Options :

68019122129. 1
68019122130. 2
68019122131.3

68019122132. 4

Question Number : 34 Question Id : 6801915656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The World Trade Organisation (WTO) was created in the year -

. 1992
1995
3. 1990
4. 1998

Options :

| R

68019122133.1
68019122134. 2
68019122135. 3

68019122136. 4

Question Number : 34 Question Id : 6801915656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



[&% IR T34 (Seegel3f) o1 9 au & =ifuq foar mar o1 -

. 1992
1995
. 1990
4. 1998

Options:

| R

L]

68019122133. 1
68019122134. 2
68019122135. 3
68019122136. 4

Question Number : 35 Question Id : 6801915657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Colostrum is secreted upto hours of parturition and may be fed to the
calf as much as it can take voluntarily.

.48
T
.24
4. 36

Options :

| R

Taa

68019122137.1
68019122138. 2
68019122139. 3

68019122140. 4

Question Number : 35 Question Id : 6801915657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



HIAReH U9d & Hel d® H1dd gidl 6 AR 989 @I Ia-1 al

G T 9T & fola- 98 WesT 9 o 9&dl o

.48
72
.24
4. 36
Options:

- =

L]

68019122137. 1
68019122138. 2
68019122139. 3
68019122140. 4

Question Number : 36 Question Id : 6801915658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vitamin D deficiency in young animals results in which disease ?

1. Rickets

2. Osteomalacia

. Osteodystrophia Fibrosa
4. All of the above

Options :

L]

68019122141.1
68019122142. 2
68019122143. 3
68019122144. 4

Question Number : 36 Question Id : 6801915658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g a3 Rierte € o o @ P el g

1I Y

) RS

3. JIRCUITS IS Brsi

4. fegTu i
Options :
68019122141. 1
68019122142. 2
68019122143, 3

68019122144. 4

Question Number : 37 Question Id : 6801915659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which breed of chicken lays white coloured egg (shells)?
(A) Andalusian

(B) Ancona

(C) Minorca

(D) Orpington

Choose the correcr answer trom the options given below:

. (A). (B) and (C) only.
. (A). (B) and (D) only.
.(A). (B). (C) and (D).
4. (B). (C) and (D) only.

I =

L]

Options:

68019122145. 1
68019122146. 2
68019122147.3

68019122148. 4

Question Number : 37 Question Id : 6801915659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



iff ot 7% Erol, o 318 & @id &1 W1 Whe 8idT & -
(A). ST
(B). TP
().
(D).
- feu Y fdoedl O 9§ 98T 3Tk 9 -
1. %ad (A). (B) 3R (C).
2. %ad (A). (B)3R (D).
3. (A). (B). (C) 3R (D).
4. %ad (B), (C) 3R (D).

Options:

68019122145. 1
68019122146. 2
68019122147. 3
68019122148. 4

Question Number : 38 Question Id : 6801915660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which breed of chicken have Shank feathers?

(A). Bramha

(B). Cochin

(C). Ancona

(D). Langshan

Choose the correcr answer trom the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019122149. 1
68019122150. 2
68019122151. 3

68019122152. 4



Question Number : 38 Question Id : 6801915660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

39 7l &1 el e, o Y T B © -
(A). SIgT

(B). B

(C). T

(D). TR

- feu e ool O § F8T SR I

1. %ad (A), (B) 3R (C).
2. %dd (A). (B) 3R (D).
3. (A). (B). (C) 3R (D).
4.%ad (B). (C) 3R (D).
Options :
68019122149, 1
68019122150. 2
68019122151. 3

68019122152. 4

Question Number : 39 Question Id : 6801915661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fat soluble vitamins in Animal feeds are:

(A). Vit C

(B). VitD

(C). Vit E

(D). VitA

Choose the correcr answer from the options given below:

. (A). (B) and (C) only.
. (A). (B) and (D) only.
_(A). (B). (C) and (D).
. (B). (C) and (D) only.

e L B =

Options :
68019122153. 1

68019122154. 2



68019122155. 3

68019122156. 4

Question Number : 39 Question Id : 6801915661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U] STeR H 991 | garRiie faera &:

(A). faeri 9t

(B). faeri i

(). faerftm s

(D). faeiiA ¢

-t fau e fosedi I § @I I:
1. %ad (A), (B) 3R (C).
2. %ad (A). (B) 3R (D).

3. (A). (B). (C) 3R (D).
4.%dd (B), (C) AR (D).

Options :

68019122153. 1
68019122154. 2
68019122155. 3

68019122156. 4

Question Number : 40 Question Id : 6801915662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which breed of chicken has skin of white colour?

(A). Australorp

(B). Langshan

(C). Dorking

(D). Succex

Choose the correct answer trom the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

o T

Options :

68019122157. 1
68019122158. 2
68019122159. 3
68019122160. 4

Question Number : 40 Question Id : 6801915662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
il &1 dg T g . oo el BT 31 Hha el © -
(A). 31
(B). TTRIH
(C). I
(D). JHH
i feu e fdedl O 9§ F8T SR I
1. ®9d (A), (B) 3R (C).

2. %ad (A). (B) 3R (D).
3. (A). (B). (C) 3R (D).
4. %ad (B), (C) 3R (D).

Options :

68019122157. 1
68019122158. 2
68019122159. 3

68019122160. 4



Question Number : 41 Question Id : 6801915663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which breed of chicken has yvellow colour Shank ?

(A). Plymouth Rock

(B). Bramha

(C). Cornish

(D). Sussex

Choose the correcr answer trom the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only:.
3. (A). (B). (C) and (D).
4.(B). (C) and (D) only.

Options:

68019122161. 1
68019122162. 2
68019122163.3

68019122164. 4

Question Number : 41 Question Id : 6801915663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

il 31 a8 7 42 % Y wr i e e -
(A). TIBASY P

(B). el

(C).

(D). TR

- feu e fdeedl O 9§ 98T 3R 91

1. %4d (A), (B) 3R (C).
2.%ad (A). (B) 3R (D).
3. (A). (B). (C) 3R (D).

4. %4d (B). (C) 3R (D).

Options :

68019122161. 1

68019122162. 2



68019122163. 3
68019122164. 4

Question Number : 42 Question Id : 6801915664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which breed of chicken has only single comb ?

(A). Plymouth Rock

(B). Cochin

(C). Australorp

(D). Sussex

Choose the correcr answer trom the options given below:

. (A). (B) and (C) only.
. (A). (B) and (D) only.
.(A). (B). (C) and (D).
4. (B). (C) and (D) only.

I =

L]

Options:

68019122165. 1
68019122166. 2
68019122167.3

68019122168. 4

Question Number : 42 Question Id : 6801915664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Tﬁﬁqﬁﬂmgﬁﬁﬂﬁﬁﬁawwﬁm%-
(A). TGARSY VP

(B). DI

(C). feamn

(D). G4

- feu Y fdoedl O 9§ 98T SR I

1. %ad (A). (B) AR (C).
2. %dd (A). (B) 3R (D).
3. (A). (B). (C) 3R D).

4. %ad (B), (C) 3R (D).

Options:

68019122165. 1
68019122166. 2
68019122167. 3
68019122168. 4

Question Number : 43 Question Id : 6801915665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which breed of duck comes under category of Meat Type duck
(A). Pekin

(B). Indian Runner

(C). Rouen

(D). Aylesbury

Choose the correcr answer trom the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only.
3. (A). (B). (C) and (D).
4. (A). (C) and (D) only.

Options :

68019122169. 1
68019122170. 2
68019122171.3

68019122172. 4



Question Number : 43 Question Id : 6801915665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

§TRG @1 5 @hot, ol Hie 23y §0d &I 4uit § 3Tl B -
(A). i

(B). SFETAIR

(5). &

(D). HTHER]

- feu e famedl O 9§ F8T SR I

1. %ad (A), (B) 3R (C).
2. %dd (A). (B) 3R (D).
3. (A). (B). (C) 3R (D).

4.%ad (A), (C) AR (D).

Options :

68019122169. 1
68019122170. 2
68019122171.3

68019122172. 4

Question Number : 44 Question Id : 6801915666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are indigenous breed of chicken of India ?
(A). Tellichery

(B). Miri

(C). Ghagus

(D). Daothigir

Choose the correcr answer trom the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only:.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

Taa

Options :
68019122173. 1

68019122174. 2



68019122175. 3

68019122176. 4

Question Number : 44 Question Id : 6801915666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YR & il DI TSR 7% DI @l -

(A). CTTaRL

(B). HI¥

(C). I

(D). BISTYAR

-t feu e fosedl I § &g o I:
1. %ad (A), (B) 3R (C).
2. %dd (A). (B) 3R (D).

3. (A). (B). (C) 3R (D).
4.%dd (B), (C) AR (D).

Options :

68019122173. 1
68019122174. 2
68019122175. 3

68019122176. 4

Question Number : 45 Question Id : 6801915667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are parts of an egg?

(A).Cuticle

(B). Stigma

(C). Blastodisk

(D). Chaliza

Choose the correct answer from the options given below:

1. (A). (B) and (C) only.
2. (A). (C) and (D) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

o T

Options :

68019122177. 1
68019122178. 2
68019122179.3
68019122180. 4

Question Number : 45 Question Id : 6801915667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
g 0 Y HIH-B1 Il 3 BT UFT 82
(A). FI[eFd
(B). daid (Rewn
(C). Rl & H
(D). IS
- feu e fawedl § § @S| I
1. %ad (A), (B) 3R (C).
2. %ad (A), (C) 3R (D).
3. (A). (B). (C) 3R (D).
4. %ad (B), (C) 3R (D).
Options :
68019122177. 1
68019122178, 2
68019122179. 3

68019122180. 4



Question Number : 46 Question Id : 6801915668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What are the advantages of Deep litter system ?
(A). Vitamin By, and B, are made available

(B). Welfare of birds 1s maimntained

(C). No incidence of coceidia

(D). Lesser nuisance from flies

Choose the correct answer trom the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019122181. 1
68019122182. 2
68019122183. 3

68019122184. 4

Question Number : 46 Question Id : 6801915668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

S iR Reg a8

(A). [de1ffF B, 3IR B, SU@® HRMA Sld &
(B). UT&l &1 ST §138d1 &

(C). PGS DI HIg e 75l oldl 3
(D). HieEdl ¥ 3usd &4 gl &

-9 feu e fdedl O 9§ 98T 3R 41

1. dd (A), (B) 3R (C).
2. %dd (A), (B) 3R (D).
3. (A). (B). (C) 3R (D).

4.%ad (B), (C) 3R (D).

Options :

68019122181. 1



68019122182. 2
68019122183. 3

68019122184. 4

Question Number : 47 Question Id : 6801915669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are mites for Poultry?

(A). Dermanyssus gallinae

(B). Cyvtodites nudus

(C). Ornithonyssus bursa

(D). Argas persicus

Choose the correct answer trom the options given below:

. (A). (B) and (C) only.
. (A). (B) and (D) only.
(A). (B). (C) and (D).
4. (B). (C) and (D) only.

|

L]

Options:

68019122185. 1
68019122186. 2
68019122187.3

68019122188. 4

Question Number : 47 Question Id : 6801915669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g 0 9 DH-BF Il i B Hed! (HEcH) 87
(A). SHATT Tifer

(B). HIgclsIgcd 789

(). 3itHeifTag saf

(D). T gfdfeg

- feu Y fdoedl O 9§ 98T SR I

1. %ad (A). (B) AR (C).
2. %dd (A). (B) 3R (D).
3. (A). (B). (C) 3R (D).

4. %ad (B), (C) 3R (D).

Options:

68019122185. 1
68019122186. 2
68019122187. 3
68019122188. 4

Question Number : 48 Question Id : 6801915670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are bacterial disease of poultry ?
(A). Fowl cholera

(B). Ulcerative enteritis

(C). Pullorum disease

(D). Chronic Respiratory discase

Choose the correcr answer trom the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019122189. 1
68019122190. 2
68019122191. 3

68019122192. 4



Question Number : 48 Question Id : 6801915670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(D). ST 4 I

- feu e faeedl § § @S I
1. %ad (A), (B) 3R (C).
2. %dd (A). (B) 3R (D).
3. (A). (B). (C) 3R (D).
4.%ad (B). (C) 3R (D).

Options :

68019122189. 1

68019122190. 2

68019122191. 3

68019122192. 4

Question Number : 49 Question Id : 6801915671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are economic traits of broiler ?
(A) Body weight at market age

(B) Feed efficiency

(C) Starting age of laying eggs

(D) Mortality

Choose the correcr answer from the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only:.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.q

Taa

Options :
68019122193. 1

68019122194. 2



68019122195. 3

68019122196. 4

Question Number : 49 Question Id : 6801915671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

SR @ A faRam SFE-%F I 82
(A). faopd & g IRR BT goi
(B). HIER &l
(C). IO I LT H 3H
(D). TG &
-t fau e fosedi I § @I I:
1. %ad (A), (B) 3R (C).
2. %ad (A). (B) 3R (D).

3. (A). (B). (C) 3R (D).
4.%dd (B), (C) AR (D).

Options :

68019122193. 1
68019122194. 2
68019122195. 3

68019122196. 4

Question Number : 50 Question Id : 6801915672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Find the correct sequence of top most country (Higher to Lower) in poultry
population ?

(A). The United States of America

(B). China

(C). Brazil

(D). India

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (B). (D). (C).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options :

68019122197. 1
68019122198. 2
68019122199. 3

68019122200. 4

Question Number : 50 Question Id : 6801915672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pape HEE] H a8 FIR B 4 DI el 3P H Td ST (3= T 75) -

(A). G Iy 30T

(B). T

(C). TSI

(D). URd

- fau e fdoedl O 9§ F81 3R 1

1. (A), (B). (C). (D).
2. (A). (B). (D). (C).
3.(B). (A). (D). (C).
4. (C). (B). (D). (A).

Options :

68019122197. 1
68019122198. 2
68019122199. 3

68019122200. 4



Question Number : 51 Question Id : 6801915673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Find the correct sequence of top most egg producing country (Higher to Lower)
(A). The United States of America

(B). China

(C). India

(D). Indonesia

Choose the eorrect answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3. (B). (A). (C). (D).
4. (C). (B). (D). (A).

Options:

68019122201. 1
68019122202. 2
68019122203.3

68019122204. 4

Question Number : 51 Question Id : 6801915673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ey 39 331 I 4% BT Uel 3 Wil (3= 4 (4) -
(A). G Iy 30T
(B).

(D). SSRmT
- feu T fdoedl O 9§ F8T 3R 9 -

_(A). (B). (C). (D).
.(A). (B). (D). (C).
.(B). (A). (C). (D).
4. (C). (B). (D). (A).

b =

L]

Options :
68019122201. 1

68019122202. 2



68019122203. 3
68019122204. 4

Question Number : 52 Question Id : 6801915674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Find the correct sequence of species of poultry from higher egg weight to lower
egg weight ?

(A). Duck

(B). Goose

(C). Turkey

(D). Guinea fowl

Choose the eorrect answer from the options given below:

1. (A). (B). (D). (C).
2. (A). (B). (C). (D).
3. (B). (C). (A). (D).
4.(C). (B). (D). (A).

Options :

68019122205. 1
68019122206. 2
68019122207. 3

68019122208. 4

Question Number : 52 Question Id : 6801915674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@@T&%%W@W 38 & qo & SHTER GI1l D1 YalIlcl T Fel SIHH
(A). FTUE

(B). B9

(C). Ul

(). ot gt

- féu TTe fasedl O § @87 SR I:

1. (A). (B). (D). (C).
2. (A). (B). (C). (D).
3. (B). (C). (A). (D).
4.(C). (B). (D). (A).

Options :

68019122205. 1
68019122206. 2
68019122207. 3

68019122208. 4

Question Number : 53 Question Id : 6801915675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the correct sequence of species of birds on the basis its age of sexual maturity
(Higher to Lower)

(A). Quail

(B). Chicken

(C). Duck

(D). Turkey

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3. (B). (A). (D). (C).
4. (D). (C). (B). (A).

Options :

68019122209. 1
68019122210. 2
68019122211. 3
68019122212. 4



Question Number : 53 Question Id : 6801915675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gigrl ot gl &1 Uel SimH 30! UF YRYSHdl i 31 & SYR U= J1d
DL (= 9 1Y) -

(A). FeX

(®). 77t

(C). §0@

(D). Ul

- feu e foeed! & § @83 I

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3. (B). (A). (D). (C).
4. (D). (C). (B). (A).

Options:

680191222009. 1
68019122210. 2
68019122211.3

68019122212. 4

Question Number : 54 Question Id : 6801915676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Find the correct sequence of species of birds on the basis of its incubation period
(Higher to lower)

(A). Quail

(B). White Pekin

(C). Bob White Quail

(D). Muscovy duck

Choose the cerrect answer from the options given below:

1. (A), (B). (C). (D).
2. (D). (B). (C). (A).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options:



68019122213.1
68019122214. 2
68019122215. 3

68019122216. 4

Question Number : 54 Question Id : 6801915676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gfgril St Uefadl BT Hel 3FpY 351 SN SaiY & YR TR J1d Pifed
3 I 1Y) -

(A). §X

(B). thg Ufchd

(C). 914 BT5C FeX

(D). HhIdl g0

- feu e fosedl & 9§ 813 I:

1. (A). (B). (C). (D).
2. (D). (B). (C). (A).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options :

68019122213. 1
68019122214. 2
68019122215.3

68019122216. 4

Question Number : 55 Question Id : 6801915677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Find the correct sequence of feed supplement having protein content from low to
high.

(A). Fish meal

(B). Meat meal

(C). Bone & meat meal

(D). Sun flower cake

Choose the correct answer from the options given below:

1. (D). (C). (B). (A)
2. (D). (A). (C). (B)
3. (D). (B). (C). (A)
4. (D). (A). (B). (C)

Options :

68019122217. 1
68019122218. 2
68019122219. 3

68019122220. 4

Question Number : 55 Question Id : 6801915677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I S 9 T 3= 0T aTd IRT 3URD! BT el SIPH JTd - -
(&), T ot

(B). i <ol

(C). ¥ ud 7y 9ot

(D). oGl PP

- feu e fdoedl 0 9§ F81 3R 1

1. (D). (C). (B). (A)
2. (D). (A). (C). (B)
3. (D). (B). (C). (A)
4. (D). (A). (B). (C)

Options :

68019122217. 1
68019122218. 2
68019122219. 3

68019122220. 4



Question Number : 56 Question Id : 6801915678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Find the correct sequence of species on the basis of ejaculation volume of semen
(ml) from higher to lower

(A). Cock

(B). Bull

(C). Turkey

(D). Boar

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3. (D). (B). (A). (C).
4. (C). (B). (D). (A).

Options :

68019122221. 1
68019122222, 2
68019122223.3

68019122224. 4

Question Number : 56 Question Id : 6801915678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

did Pt wEa AT (el & SR 9 US| &1 95l 3o H J1d By (3=
I -

(A). 7

(B). §d

(C). Ul

(D). Y3

- feu Y fosedl § 9§ g7 SR g -

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3. (D). (B). (A). (C).
4. (C). (B). (D). (A).

Options :

68019122221.1



68019122222. 2
68019122223. 3

68019122224. 4

Question Number : 57 Question Id : 6801915679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the correct sequence of organ of oviduct on the basis of egg stay time while
formation of egg (Higher stay time to Lower stay Time)

(A). Isthmus

(B). Magnum

(C). Shell gland

(D). Infundibulum

Choose the correct answer from the options given below:

1. (A), (B). (C). (D).
2. (A). (B). (D). (C).
3. (B). (A). (D). (C).
4. (C). (B). (A). (D).

Options:

68019122225. 1
68019122226. 2
68019122227. 3
68019122228. 4

Question Number : 57 Question Id : 6801915679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



BT ETH & SR 3iS & 383 & IHY & YR W FSA & 37 BT Tal
P F1d DAY (H(UD 38 & I I DU 6631 & T & 38R) -
(A). SR

(B). TiAH

(C). TEIe) 91

(D). PTSgeH

- feu Y fdeedl O 9§ 98T SR I

1. (A). (B). (C). (D).
2. (A), (B). (D). (C).
3.(B). (A). (D). (C).
4. (C). (B). (A). (D).

Options :

68019122225. 1
68019122226. 2
68019122227. 3

68019122228. 4

Question Number : 58 Question Id : 6801915680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the correct sequence of parts of egg from outer side to mnner side?
(A). Albumen

(B). Shell

(C). Blastodise

(D). Cutical

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (B). (D). (C).
3.(B). (A). (D). (C).
4. (D). (B). (A). (O).

Options :

68019122229. 1
68019122230. 2
68019122231.3

68019122232. 4



Question Number : 58 Question Id : 6801915680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3{S & a6l YT {TdRE U d% &1 Hal SIHH J1d DIl -
(A). TegHH

(B). Id(EI)

{C).

(D).

-9 feu e fdedl O 9§ J81 3R 1

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3.(B). (A). (D). (C).
4. (D). (B). (A). (C).

Options :

680191222209. 1
68019122230. 2
68019122231. 3
68019122232. 4

Question Number : 59 Question Id : 6801915681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Find the correct sequence of organ of digestive system of chicken from mouth to
cloaca?

(A). Caeca

(B). Gizzard

(C). Proventriculus

(D). Crop

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3. (B). (A). (D). (C).
4. (D), (C). (B). (A).

Options :

68019122233. 1



68019122234. 2
68019122235. 3

68019122236. 4

Question Number : 59 Question Id : 6801915681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 9 AT ad il & U oF & 3T BT Hol SIHH J1d BT -
(A).

B). fiems

(C). Wafchad

(D). 1Y

e feu 1Y fasedl 6 ¥ §1 SR I -

_(A). (B). (C). (D).
.(A). (B). (D). (C).
.(B). (A). (D). (C).
(D). (C). (B). (A).

a3 =

e s

Options:

68019122233. 1
68019122234. 2
68019122235.3

68019122236. 4

Question Number : 60 Question Id : 6801915682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Find the correct sequence (Higher to Lower) of breed of chicken according to
Heart rate (Beat/ Minute)

(A). Chicken

(B). Quail

(C). Turkey

(D). Goose

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (B). (D). (C).
3. (B). (A). (C), (D).
4. (C). (B). (D). (A).

Options :

68019122237. 1
68019122238. 2
68019122239. 3

68019122240. 4

Question Number : 60 Question Id : 6801915682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BT, YSPH/MHHE & IR T I 430 B ol SHHH Giol (I Y [HH) -
(A). it

(B). §X

(C). U

(D). B9

- f&u T foeedl § § @813k 91

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3. (B). (A). (C). (D).
4.(C). (B). (D). (A).

Options :

68019122237. 1
68019122238. 2
68019122239. 3
68019122240. 4



Question Number : 61 Question Id : 6801915683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Find the correct sequence of breed of chicken on basis of body weight (Higher
male body weight to Lower male body weight) ?

(A). Leghorn

(B). Jersey Black giant

(C). Cornish

(D). New Hampshire

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (B). (D). (C).
3.(B). (A). (D). (O).
4. (B). (C), (D). (A).

Options :

68019122241. 1
68019122242, 2
68019122243.3

68019122244. 4

Question Number : 61 Question Id : 6801915683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YRR & goi & YR TR i P 7% BT Fei A 1d HI1o18 (R IR &
%P gui- ¥ B go & 3HR) -

(A). TEH

(B). ST &l Wi e

(C). DI

(D). T EHRIER

- fau T fowed 4 ¥ @87 3w I:

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3. (B). (A). (D), (C).
4. (B). (C). (D). (A).

Options :

68019122241.1



68019122242. 2
68019122243. 3

68019122244. 4

Question Number : 62 Question Id : 6801915684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five key principles of Participatory Rural Appraisal (PRA) are -
(A). Participation & Flexibility

(B). Team work. optimal 1gnorance & systemic approach

(C). Rigidity & Non ignorance

(D). Team work / Flexibility / Systemic approach

Choose the correct answer from the options given below:

. (B) and (C) are correct
. (A) and (D) are correct
. (A) and (B) are correct
. (B) and (D) are correct

|

L]

Options:

68019122245. 1
68019122246. 2
68019122247. 3

68019122248. 4

Question Number : 62 Question Id : 6801915684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



eIl A s (F3RY) & Uid wE e s -
(A). FEHTAIT 3R T arg=

(B). SAGTY, SVAH IU&T 3R HUMENTd S

(C). TedT 3R figrar

(D). SEABTY / AT / FU&T T HIAT

- feu Y fdoedl O 9§ 98T SR I

1. (B) ¥R (C) W1 §
2. (A) 3R (D) &l €
3.(A) 3R (B) eI €
4.(B) 3R (D) WEI €

Options:

68019122245. 1
68019122246. 2
68019122247. 3
68019122248. 4

Question Number : 63 Question Id : 6801915685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{Breed of sheep) | (Native country)
A | Merino I. |England
B. |Ram Bouillet | II. |New Zealand
C. |Lincoln ITI. |France
D. |Corridale IV |5Spain

Choose the correct answer from the options given below:

1. (A) - (). (B) - (I). (C) - (III). (D) - (IV)
2. (A)-(D. (B) - (). (C) - (IV). (D) - (11I)
3.(A) - (IV). (B) - (IT). (C) - (I). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (D). (D) - (I)

Options :
68019122249. 1
68019122250. 2

68019122251. 3



68019122252. 4

Question Number : 63 Question Id : 6801915685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G-I SR GEI-11 1 gaferd o -

I 11
{ﬂtg'rﬁ?@ (&H;ﬂ XTE)
B EriE 1 |gug
IqdEde | o [geicrs
i 1L |G
GAIREL IV, |5

- fEu T faedl § § §31 SR -

. (A) - (D). (B) - (IT). (C) - (IIT). (D) - (IV)
(A) - (I). (B) - (I). (C) - (IV). (D) - (IIT)
. (A)-(IV), (B) - (III), (C) - (I), (D) - (1I)
. (A) - (II1). (B) - (IV). (C) - (I). (D) - (II)

i

o|o|w

faa a3 —

=

Options :

68019122249. 1
68019122250. 2
68019122251. 3

68019122252. 4

Question Number : 64 Question Id : 6801915686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Act of Parturition) (Livestock)
A |Foaling I. |Mare
B. |Calving II. |Buftalo
C. |Lambing III. |Ewe
D. |Kidding IV, |Goat

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (D), (B) - (I1I), (C) - (IT), (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019122253. 1
68019122254. 2
68019122255. 3
68019122256. 4

Question Number : 64 Question Id : 6801915686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A1 SR 11 D1 FHfTd e -
a1 o 11
(T T ) (@)
A |mrEfEm 1L (=TSt
B. |&feaT I |9
c. [afEmT 111 [9S1
D. |f&fT V. [g@d
-9 feu e fdsedl § 9 |el SR 9 -

1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A)- (D). (B) - (). (C) - (II). (D) - (IV)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (IIT)
4. (A) - (). (B) - (AV). (C) - (I). (D) - (II)

Options :



68019122253. 1
68019122254. 2
68019122255. 3

68019122256. 4

Question Number : 65 Question Id : 6801915687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Endocrine Gland) (Hormone Screated)
A |Anterior Pituitary | 1. |Inhibin
B. |Posterior Pituitary| II. |LH (Leutinizing hormone)
C. |Ovary I1I. |Belaxin
D. |Testis IV, | Oxytocin

Choose the correcr answer from the options given below:

. (A) - (IT). (B) - (IV). (C) - (III). (D) - (I)
. (A) - (D). (B) - (IIT). (C) - (IV). (D) - (I)
. (A) - (III). (B) - (II). (C) - (IV). (D) - (I)
A(A) - (II). (B) - (IV). (C) - (I). (D) - (III)
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Options :

68019122257. 1
68019122258. 2
68019122259. 3

68019122260. 4

Question Number : 65 Question Id : 6801915687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g1 SR gEI-I1 D1 gafad o -

I 11
(ﬁﬂtﬁn mﬁa%_‘rﬁmﬁﬂ)
A |emaEdf digfter| 1. [gAfefed
B. |ugad digfieT | 1. |gaue (@i gm)
C. |smeEm 111 |cifae
D. |quul IV. |SHTeiTe e
-t feu T fosedl I O 98t SR I -

1. (A) - D). (B) - (V). (C) - (IIT). (D) - (I)
2.(A) - (II). (B) - (II). (C) - (IV). (D) - (I)
3. (A) - (). (B) - (II). (C) - (IV). (D) - (I)
4. (A) - (IT). (B) - (IV). (C) - (D). (D) - (II)

Options :

68019122257. 1
68019122258. 2
68019122259. 3
68019122260. 4

Question Number : 66 Question Id : 6801915688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Parts of Digestive system of chicken) (pH)
A [Mouth L |25
B. |Crop I |160-68
C. |Stomach (Proventriculus and Gizzard) II. | 7.0-7.5
D. |Deodenum IV. |45

Choose the correct answer from the options given below:

L. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (I), (B) - (II1). (C) - (IT), (D) - (IV)
3. (A) - (I). (B) - (I). (C) - (IV). (D) - (ITI)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :



68019122261. 1
68019122262. 2
68019122263. 3

68019122264. 4

Question Number : 66 Question Id : 6801915688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g1 SR YEI-I1 1 gafad o -
kSl I
(T & U= &7 BT UM Qﬂl}
A |q8 L |25
B. [&IU 11 [6.0-68
C. |Ue widie ey 3R fieds) m (7.0-75
D. |fsareA IV, |43
- fau e fdedl O 9 |el TR A -
1. (A) - (I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
3. (A) - (D). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (IID). (B) - (IV). (C) - (). (D) - (II)
Options :

68019122261. 1
68019122262. 2
68019122263. 3

68019122264. 4

Question Number : 67 Question Id : 6801915689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Particular Features) (Temperature)
A |Brooding temperature I |41°C
B. |Setter temperature 1 Incubator| II. |39°C
C. |Chick body temperature L 357
D. |Adult hen body temperature IV |37.5°C

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (D), (B) - (I1I), (C) - (IT), (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (I1I)
4. (A) - (III). (B) - (IV). (C) - (II). (D) - (I)

Options :

68019122265. 1
68019122266. 2
68019122267. 3
68019122268. 4

Question Number : 67 Question Id : 6801915689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g1 3R G111 D1 gAferd - -
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1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A)- (D). (B) - (). (C) - (II). (D) - (IV)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)
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Options :



68019122265. 1
68019122266. 2
68019122267. 3

68019122268. 4

Question Number : 68 Question Id : 6801915690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
l(Type of Arthopods)| (Name of Arthopods)
A |Soft ticks I |Menopon gallinae
B. |Louse II. |Tunga penetrans
C. |Fleas II1. |Cytodites nudus
D [Mites IV, |Argas persicus

Choose the correcr answer from the options given below:

. (A) - (I). (B) - (II). (C) - (ITT). (D) - (IV)
(A)-(I). (B) - (III). (C) - (II). (D) - (IV)
- (A)- (). (B) - (II). (C) - (IV). (D) - (I1I)
AA)-(IV). (B) - (I). (C) - (IT). (D) - (I1I)
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Options :

68019122269. 1
68019122270. 2
68019122271.3

68019122272. 4

Question Number : 68 Question Id : 6801915690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



GaT-1 SR GEI-11 1 gafad o -
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1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A)-(1). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(1D). (B) - (I). (C) - (IV). (D) - (IIT)
4.(A) - (IV). (B) - (I). (C) - (IL). (D) - (III)

Options :

68019122269. 1
68019122270. 2
68019122271. 3

68019122272. 4

Question Number : 69 Question Id : 6801915691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Name of disease) (Causative agent)
A |Ranikhet disease I. |Corona Ti-rus
B. |Infectious Bursal Disease II. |Herpes virus
C. |Infectious bronchitis II1. |Paramvxo Virus
D. |Infectious Laryngotracheitis| IV, |Birna virus

Choose the correct answer from the options given below:

L. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (I), (B) - (II1). (C) - (IT), (D) - (IV)
3. (A) - (I). (B) - (I). (C) - (IV). (D) - (ITI)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :



68019122273. 1
68019122274. 2
68019122275. 3

68019122276. 4

Question Number : 69 Question Id : 6801915691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

GAT-1 SR GEI-11 1 gafad & -
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. (A) - (1), (B) - (1), (C) - (II1), (D} - (IV)
. (A) - (I). (B) - (II). (C) - (II). (D) - (IV)
(A)-(I). (B) - (II). (C) - (IV). (D) - (III)
(A) - (TIT). (B) - (IV). (C) - (I). (D) - (IT)
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Options :

68019122273. 1
68019122274. 2
68019122275. 3

68019122276. 4

Question Number : 70 Question Id : 6801915692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Wame of Disease) (Causative agent)
A |Brooder pneumonia 1. |dspergillus flavus
B. |Candidiosis II. \Aspergillus viridicatum
C. |Aflatoxicosis 11 |Aspergillus fumigatus
D. |Ochratoxicosis IV. |Candida albicans

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (D), (B) - (I1I), (C) - (IT), (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019122277. 1
68019122278. 2
68019122279. 3
68019122280. 4

Question Number : 70 Question Id : 6801915692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g1 3R G111 D1 gAferd - -
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1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A)- (D). (B) - (). (C) - (II). (D) - (IV)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (IIT)
4. (A) - (). (B) - (AV). (C) - (I). (D) - (II)

Options :



68019122277.1
68019122278. 2
68019122279. 3

68019122280. 4

Question Number : 71 Question Id : 6801915693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{(Name of Disease) (Alternate Popular name of disease)|

=

Inclusion Body Hepatitis | 1. |Bird flu

Wew Castle dizeaze I1. |Gumboro diseasze

Infectious Bursal Disease| 111 |Leechi Diseasze

g0«

Avnian Influenza IV, |Ranikhet dizease

Choose the correcr answer from the options given below:

. (A) - (I). (B) - (II). (C) - (ITT). (D) - (IV)
(A) - (I). (B) - (III). (C) - (II). (D) - (IV)
(A)- (). (B) - (II). (C) - (IV). (D) - (I1I)
- (A) - (III). (B) - (IV). (C) - (II). (D) - (I)
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Options :

68019122281. 1
68019122282. 2
68019122283. 3

68019122284. 4

Question Number : 71 Question Id : 6801915693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



GaT-1 SR GEI-11 1 gafad o -
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L. (A) - D). (B) - (II). (C) - (III). (D) - (IV)
2.(A)-(1). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(1D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (I)
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Options :

68019122281. 1
68019122282. 2
68019122283. 3

68019122284. 4

Question Number : 72 Question Id : 6801915694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Species) {(Chromosome No.)
A_ |Cattle I. |38
B. |Sheep II. |50
C. |Buffalo II1. |60
D. |Pig IV. |54

Choose the correct answer from the options given below:

1. (A) - ID). (B) - (II). (C) - (I). (D) - (IV)
2. (A) - (IM). (B) - (AV). (C) - (). (D) - (I)
3.(A) - ({@). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)

Options :



68019122285. 1
68019122286. 2
68019122287. 3

68019122288. 4

Question Number : 72 Question Id : 6801915694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

GAT-1 SR GEI-11 1 gafad & -
a1 T 1
(e (IR €&
A |Tid= I |38
B. |48 1. |50
c. |99 I11. {60
D. [g3R V. 54
- fau e fdedl O 9 |el TR A -
1. (A) - (II). (B) - (I1). (C) - (I). (D) - (IV)
2. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)
3.(A) - (1), (B) - 1), (C) - (IV), (D) - (I1I)
4. (A) - (IID). (B) - (IV). (C) - (I). (D) - (II)
Options :

68019122285. 1
68019122286. 2
68019122287. 3

68019122288. 4

Question Number : 73 Question Id : 6801915695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Breed of chicken) | (Origin Country)
A |Plymouth Rock| 1. :E-ngland
B. |Cochin II. |Ttaly
C. |Leghorn ITI. |China
D. |Cornish IV, |America

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (D), (B) - (I1I), (C) - (IT), (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (I1I)
4. (A)-(IV), (B) - (IIT). (C) - (II). (D) - (I)

Options :

68019122289. 1
68019122290. 2
68019122291.3
68019122292. 4

Question Number : 73 Question Id : 6801915695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g1 3R G111 D1 gAferd - -
a1 e 11
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1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A)- (D). (B) - (). (C) - (II). (D) - (IV)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (IIT)
4.(A) - (IV). (B) - (ITT). (C) - (IT). (D) - (I)

Options :



68019122289. 1
68019122290. 2
68019122291. 3

68019122292. 4

Question Number : 74 Question Id : 6801915696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Breed of Duck) | (Origin country)
A [Pekin 1. [England
B. |Avlesbury II. |China
C. |Muscovy III. |South America
D. |Fouen IV. |France

Choose the correcr answer from the options given below:

- (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
. (A) - (D). (B) - (I). (C) - (IIT). (D) - (IV)
(A)- (). (B) - (II). (C) - (IV). (D) - (I1T)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :
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68019122293. 1
68019122294. 2
68019122295. 3

68019122296. 4

Question Number : 74 Question Id : 6801915696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A)-(I). (B) - (I). (C) - (). (D) - (IV)
3.(A)-(1D). (B) - (IT). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019122293. 1
68019122294. 2
68019122295. 3

68019122296. 4

Question Number : 75 Question Id : 6801915697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Species of Poultry) (Young one)

A |Guinea fowl I. |Chick
B. |Turkey II. |Duckling
C. |Chicken ITI. |Keet
D. [Duck IV. |Poult

Choose the correct answer from the options given below:

1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A)-(1). (B) - (IT). (C) - (IV). (D) - (IIT)
3.(A) - (I). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)

Options :



68019122297. 1
68019122298. 2
68019122299. 3

68019122300. 4

Question Number : 75 Question Id : 6801915697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (I). (B) - (1I). (C) - (III). (D) - (IV)
2. (A) - (1), (B) - (1I). (C) - (IV), (D) - (III)
3. (A) - ). (B) - (I). (C) - (IV). (D) - (III)
4. (A) - (II1). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019122297. 1
68019122298. 2
68019122299. 3

68019122300. 4



